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I. Part One: Vocabulary and Grammar (40%)

Here are 20 incomplete sentences. For each sentence, you will find four
choices: choose the one answer that best completes the sentence.

1. During the Cultural Revolution period, Chinese agricultural production had been
into a low level and caused a widespread tamine.

a. developed
b. deformed
C. sunk

d. created

2. The public transportation system in the city has been greatly
recently and the citizens are very pleased with the new system.

a. enhanced
b. 1mproved
c. 1nnovated

d. 1increased

3. The economic policy has greatly damaged the popularity of President Johnson.
Some diehard supporters, however, still have 1n him.

a. competent
b. conviction
c. confidence

d. comfort
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4. In many tribal societies, most disputes were settled by

a. court hearing.

b. mediation
c. feud

d. intervention

5. He would suffer death rather than his family and kin group.

a. beguile
b. betray
c. behold

d. bestow

6. We have lots of work to complete but we have time!
a. small
b. little

C. Pprecious

d. hard

7. 1 agree with David that 1t 1s to work out the difference between us than
taking the matter to the court.

a. preferable
b. demeaning
c. enjoyable

d. comforting
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8. Here is some information on | supports for disable persons,
including medical and living allowances.

a. economic
b. financial
¢c. moral

d. matenal

9. Due to the drastic environmental change, many residents in this community
would have to be to other villages.

a. resided
b. relocated
c. reassigned

d. reestablished

10. For your health, you should avoid food that contains high fat and sugar.
a. toeat
b. eating
c. Intake

d. consume

11. No biological differences between the sexes can for the cross-cultural
variations in the sexual division of labor.

a. assign
b. account
c. detail

d. describe
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12. A question asked by anthropologist interested in 1s whether females are
everywhere subordinated to males.

a. sex
b. gender
c. biological difference

d. ethnicity

13. Applied anthropology is the use of anthropological research and
theories in defining and developing solutions for contemporary human problems.

a. mechanisms
b. paradigms
c. methods

d. profiles

14. One important feature of human adaptation is that it is carried out primarily by
changes.

a. physical
b. environmental
c. cultural

d. political

15. In order to reduce unemployment, the government has recently enacted new
policies which will a large increase of new jobs.

a. ascribe
b. enable
c. assign

d. employ
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16. John and David share the cost of this banquet at 40% and 60%

a. collectively
b. individually
c. respectively

d. totally

17. A new home security system is selling well because 1t 1s simple to and
will not need any professional help.

a. 1nsert
b. 1nstall
c. Instate
d. 1nput
18. The author was asked to submit an of about 2,000 words together with

his writing schedule.
a. application

b. assignment

c. abstract

d. aspiration

19. When the research project 1s , the instructor expects all his students to
take it seriously and complete it on time.

a. ascribed

b. assigned

c. affirmed

d. allowed
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In order to find out what the voters prefer, all candidates public opinion
polls.

a. conducted
b. consolidated
c. contemplated

d. consigned

Part Two: Translate the following sentences into Chinese. (30%)

Although what one learns is important to personality development, most scholars
assume that how one learns is no less important. Along with psychological
theorists, anthropologists view childhood experience as strongly influencing

adult personality.

Human population sizes have increased steadily since the Neolithic. Some
scholars argue that pressure from increasing population size led to the innovation

of intensive agriculture.

Rising temperatures are causing more and greater storms, droughts, and heat

waves, devastating populations in vulnerable areas.

Part Three: Translate the following sentences into English. (30%)
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